

$$p \neq 2 \neq 24) \quad \frac{-3x^2 - 3x + 17}{(x+1)(2x^2+3x-9)} = \frac{-3x^2 - 3x + 17}{(x+2)(2x-3)(x+3)}$$

$$= \frac{-3x^2 - 3x + 17}{(x+1)(2x-3)(x+3)} = \frac{A}{x+1} + \frac{B}{2x-3} + \frac{C}{x+3}$$

$$-3x^2 - 3x + 17 = A(2x-3)(x+3) + B(x+1)(x+3) + C(x+1)(2x-3)$$

$$-3x^2 - 3x + 17 = A(2x^2 - 3x + 9) + B(x^2 + 5x + 6) + C(2x^2 + x - 6)$$

$$-3x^2 - 3x + 17 = A(2x^2 + 3x - 9) + Bx^2 + 5Bx + 6B + 2Cx^2 + Cx - 6C$$

$$-3x^2 - 3x + 17 = (2A + B + 2C)x^2 + (3A + 5B + C)x - 9A + 6B - 6C$$

$$\begin{aligned} 2A + B + 2C &= -3 & d_e t &= 63 & A &= -3 \\ 3A + 5B + C &= -3 & |A| &= -184 & B &= 1 \\ -9A + 6B - 6C &= 17 & |D_e| &= 63 & C &= 1 \end{aligned}$$

$$-3x^3 - 3x + 17 = \frac{-3}{x+1} + \frac{1}{2x-3} + \frac{1}{x+3}$$

$$26) \quad \frac{3x^2 + 5x - 13}{(3x+1)(x^2-4x+4)} = \frac{3x^2 + 5x - 13}{(3x+1)(x-2)^2}$$

$$\frac{3x^2 + 5x - 13}{(3x+1)(x-2)^2} = \frac{A}{3x+1} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$L.C.D. = \frac{(3x+1)(x-2)^2}{}$$

$$3x^2 + 5x - 13 = A(x-2)^2 + B(3x+1)(x-2) + C(3x+1)$$

$$3x^2 + 5x - 13 = A(x^2 - 4x + 4) + B(3x^2 - 4x - 4) + C(3x + 1)$$

$$3x^2 + 5x - 13 = Ax^2 - 4Ax + 4A + 3Bx^2 - 4Bx - 4B + 3Cx + 2C$$

$$3x^2 + 5x - 13 = (A+3B)x^2 + (-4A-4B+3C)x + 4A-4B+2C$$

$$\begin{aligned} A + 3B &= 3 \\ -4A - 4B + 3C &= 5 \\ 4A - 4B + 2C &= -13 \end{aligned}$$

$$\begin{aligned}
 A + 3B &= 3 \\
 -4A - 4B + 3C &= 5 \\
 4A - 4B + 2C &= -13
 \end{aligned}$$

$$\begin{aligned}
 |D| &= 64 \\
 |D_A| &= -135 \\
 |D_B| &= 109 \\
 |D_C| &= 92
 \end{aligned}$$

$$A = \frac{-135}{64} \quad B = \frac{109}{64} \quad C = \frac{72}{64} = \frac{9}{8}$$

$$\frac{3x^2 + 5x - 13}{(3x+2)(x-2)^2} = \frac{-135}{64} \frac{1}{3x+2} + \frac{109}{64} \frac{1}{x-2} + \frac{9}{8} \frac{1}{(x-2)^2}$$

$$28) \quad \frac{x-4}{(2x-5)^2} = \frac{A}{(2x-5)} + \frac{B}{(2x-5)^2}$$

$$x-4 = A(2x-5) + B$$

$$x-4 = 2Ax - 5A + B$$

$$x-4 = (2A)x - 5A + B$$

$$\begin{aligned}
 2A &= 1 & \rightarrow & A = \frac{1}{2} \\
 -5A + B &= -4 & \rightarrow & B = -1.5 = -\frac{3}{2}
 \end{aligned}$$

$$\frac{x-4}{(2x-5)^2} = \frac{\frac{1}{2}}{2x-5} - \frac{\frac{3}{2}}{(2x-5)^2}$$

#32)

$$\frac{-2x^2 + 5x - 1}{x^4 - 2x^3 + 2x - 1} = \frac{-2x^2 + 5x - 1}{(x-1)(x^3 - x^2 - x + 1)} = \frac{-2x^2 + 5x - 1}{(x+1)(x-1)^3}$$

$$\frac{-2x^2 + 5x - 1}{(x-1)^3(x+1)} = \frac{A}{x+1} + \frac{B}{(x-1)} + \frac{C}{(x-1)^2} + \frac{D}{(x-1)^3}$$

$$-2x^2 + 5x - 1 = A(x-1)^3 + B(x+1)(x-1)^2 + C(x+1)(x-1) + D(x+1)$$

$$= A(x^3 - 3x^2 + 3x - 1) + B(x^3 - x^2 - x + 1) + C(x^2 - 1) + D(x+1)$$

$$= A(x^3 - 3x^2 + 3x - 1) + B(x^3 - x^2 - x + 1) + C(x^2 - 1) + Dx + D$$

$$= A(x^3 - 3x^2 + 3x - 1) + B(x^3 - x^2 - x + 1) + Bx^2 - Bx + B + Cx^2 - C + Dx + D$$

$$= A(x^3 - 3x^2 + 3x - 1) + Bx^3 - 3Ax^2 + 3Ax - A + Bx^2 - Bx + B + Cx^2 - C + Dx + D$$

$$-2x^2 + 5x - 1 = Ax^3 - 3Ax^2 + 3Ax - A + Bx^3 - 3Ax^2 + 3Ax - A + Bx^2 - Bx + B + Cx^2 - C + Dx + D$$

$$-2x^2 + 5x - 1 = (A+B)x^3 + (-3A-B+C)x^2 + (3A-B+D)x + (-A+B-C+D)$$

$$\begin{array}{rcl} A+B & = & 0 \\ -3A-B+C & = & -2 \\ 3A-B & + & D = 5 \\ -A+B-C+D & = & -1 \end{array}$$

$$\begin{array}{rcl} A+B & = & 0 \\ 2B+C & = & -2 \\ 2C+D & = & 1 \\ -2C+5D & = & 5 \end{array}$$

$$\frac{-2x^2 + 5x - 1}{(x-1)^3(x+1)} = \frac{1}{x+1} - \frac{1}{x-1} + \frac{0}{(x-1)^2} + \frac{1}{(x-1)^3}$$

$$36) \quad \frac{3x^2 - 2x + 8}{x^3 - x^2 + 2x - 2} = \frac{3x^2 - 2x + 8}{x^2(x-1) + 2(x-1)} = \frac{3x^2 - 2x + 8}{(x^2 + 2)(x-1)}$$

$$\frac{3x^2 - 2x + 8}{(x^2 + 2)(x-1)} = \frac{Ax + B}{(x^2 + 2)} + \frac{C}{(x-1)}$$

$$3x^2 - 2x + 8 = (Ax + B)(x-1) + C(x^2 + 2)$$

$$3x^2 - 2x + 8 = Ax^2 + Bx - Ax - B + Cx^2 + 2C$$

$$3x^2 - 2x + 8 = (A+C)x^2 + (-A+B)x - B + 2C$$

$$A + C = 3 \qquad A + C = 3 \qquad A = 0$$

$$-A + B = -2 \qquad B + C = 1 \qquad B = -2$$

$$-B + 2C = 8 \qquad 2C = 6 \qquad C = 3$$

$$\frac{3x^2 - 2x + 8}{(x^2 + 2)(x-1)} = \frac{0x - 2}{x^2 + 2} + \frac{3}{x-1} = \frac{-2}{x^2 + 2} + \frac{3}{x-1}$$